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A= Fuyia A FEYH2
N ZEFAg
el FEFgagdst (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
01 HXSHH B E2ES 180,000 180,000 0
s HE SISt X & 180,000
XSG EHHSLYOISKAANS (2HEEXI) 50,000 50,000
308 XXIHMSOIA 50,000 50,000
11 I 2SOt 4EASAIS | 50,000 50,000
DXL 1EE IS L0ISAEAMS 50,000
SRS Hd Lol A F L XA 23t 200,000 200,000
307 212+01& 200,000 200,000
02 QIRIHAANGE R 200,000 200,000
O¥Eeddzelsg2d 200,000
HEUXAEERNESHAAAY 67,020 139,511 AT2,491
= 41,040
S 25,980
308 AHXIEMSOIH 67,020 139,511 AT2,491
= 41,040
= 25,980
01 AX N ELS 67,020 139,511 AT2,491
OFAXNAE XN FEAAANS (ZESY) 67,020
[ 41,040
= 25,980
OlcHS QA D | FEE LR ALY 2,544,000 2,030,500 513,500
s 1,440,000
S 1,104,000
308 XXM SO0IH 2,544,000 2,030,500 513,500
= 1,440,000
S 1,104,000
11 S| 2SS & HASAIE 2,544,000 2,030,500 513,500
ColHE A M HH AL RIS (FES
&) 2,544,000
Fas 1,440,000
= 1,104,000
NASSEEEHI I HL N2 IALS 418,000 0 418,000
s 225,000
= 193,000
308 XXM SO0l 418,000 0 418,000
= 225,000
S 193,000
11 S| 2SS & HASAE 418,000 0 418,000
OXSSaEEEGI A ReIMG (ZES
&) 418,000
Fas 225,000
= 193,000
FSMEHEZILXICIAIY 697,600 672,000 25,600




AR Humsp SN HEmHE
B HAEYL
el FEFgagdst (Gt H2)
AR R BB O(SH) - MSAY - BAS 0l &y G o HIRS2
rag 337,050
T 360,550
308 KX SHMSOIN 697,600 672,000 25,600
s 337,050
T 360,550
11 3I| 2SS0 CHsHE & X2 E ALY 697,600 672,000 25,600
OESMENEHEHLTLIANS (BESY) 697,600
= 337,050
= 360,550
FEXNGAS HEHE ST ALY 450,020 0 450,020
= 167,808
& 282,212
308 KX SHHMSOIN 450,020 0 450,020
g 167,808
T 282,212
11 2| 2SHICHsHE & X2 E ALY 450,020 0 450,020
(ST AS BHES IS AR (RS
o) 450,020
Fay 167,808
= 282,212
HUEXSAIZI HESE EHAAIS 301,016 245,253 55,763
= 138,822
& 162,1%4
308 AXISHMSOIA 301,016 245,253 55,763
s 138,822
T 162,1%4
01 AXISHNEAEEXZ 301,016 245,253 55,763
OHEXSASI 0 SEEAMS(ZESTY) 301,016
s 138,822
= 162,1%4
HEXHHI|EI XY 8,955,559 11,380,760 A2,425,201
= 2,839,560
& 6,115,999
LI ESSIA R EHE 2,829,000 2,929,000 100,000
201 Let2IH| 25,000 25,000 0
01 AFR22ld| 25,000 25,000 0
OJggt~2| 25,000
OFEAFARASAANETS RO 5,000
OFEHHA=EBHEMAH 20,000
307 CIZ2tOIM 500,000 600,000 100,000
05 QIZtIRIE = 500,000 500,000 0
CSsAyEge AN SY 500,000
308 AXISHHSOIA 2,304,000 2,304,000 0




2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
01 AXEH B2 654,000 654,000 0
OZ=sd4dosd 654,000
1 3J12S0tet 1,650,000 1,650,000 0
OB =&EC0E0d 1,000,000
UEHEY 360,000
O ECE0= 200,000
e 100,000
FEI|H LRl AH 361,834 731,582 N369,748
= 187,110
< 174,724
307 gl2to| & 361,834 731,582 A369,748
[ 187,110
= 174,724
02 SI2HE &AL 361,834 731,582 A369,748
OFE0IL RIS (ZES 361,834
[ 187,110
= 174,724
AL Xel AL 1,260,540 2,023,428 AT62,888
= 670,770
< 589,770
308 AXIHMSOIA 1,260,540 2,023,428 NT62,888
= 670,770
& 589,770
1 3I12s 1,260,540 2,023,428 AT62,888
IESgeeip hoa! 1,260,540
[ 670,770
= 589,770
HEABEHRZAAMS 208,000 208,000 0
308 XXM SOIA 208,000 208,000
01 AXNBEES 208,000 208,000
OEEAEEHXA 208,000
ZSEEHHESNEAAMG 1,422,255 2,112,500 690,245
= 676,170
< 746,085
308 AFXIEHA 1,422,255 2,112,500 269,245
[ 676,170
= 746,085
01 XbXIEHH| 1,422,255 2,112,500 690,245
OB=SEE 1,422,255
[ 676,170
= 746,085
ANSEERCIHE XA 668,750 666,250 2,500




AR Humsp SN HEmHE
B HAEYLY
el FEEgletry (Gt H2)
A= RA - ZH - S(EH) - HIRAY - B ofl &t G o HIDEZ
= 412,500
S 256,250
308 XtXIEMSOIE 668,750 666,250 2,500
= 412,500
S 256,250
01 HRSHHBAEES 668,750 666,250 2,500
CASEHEFLIHBAIMNS(ZESL) 668,750
= 412,500
& 256,250
ZEFESFHZEE XA 1,310,360 1,790,000 A479,640
[ 655,200
= 655,160
308 XXM SO0IE 1,310,360 1,790,000 A479,640
= 655,200
=S 655,160
11 SIS0t 4 A AS A 1,310,360 1,790,000 479,640
(E=HESHRLEE AL (D ESY) 1,310,360
= 655,200
[ 655,160
ZSFECEONE AEXZ A 172,500 0 172,500
[ 41,250
= 131,250
308 AXIHMSO0IA 172,500 0 172,500
[ 41,250
= 131,250
11 SIS0t oA A A 172,500 0 172,500
OZ=HACOIE AEX A (ZESY) 172,500
s 41,250
== 131,250
FERIZEE CIXIZ At 422,320 770,000 347,680
[ 196,560
= 225,760
308 AXIHMSOIA 422,320 770,000 A347,680
[ 196,560
== 225,760
11 S 2SS & AET AL 422,320 770,000 A347,680
OADGEMEEEASCRNZANS (ZES
&) 422,320
s 196,560
S 225,760
HESHUSAME (RIIEEXIR) 300,000 300,000
307 el2to| & 300,000 300,000
02 QIS EX 300,000 300,000




SIEppbeS
| E Y (Gt H2)
- RA - ZB - O9(3) - NRAY - BES 0l & A HlRE2
IEEEEEERERE 300,000
EENEREN 7,872,300 11,252,452 3,380, 152
2 2,290,000
= 627,750
= 4,954,550
HE=TAAYREA 10,000 10,000 0
201 Ler2b| 10,000 10,000
01 AR 22lH| 10,000 10,000
mELIE= 1 10,000
OFE=TAANYS AN FERO! 10,000
EAJAFANIRAE 763,200 960,000 196,800
308 XX SIS0 763,200 960,000 196,800
PR ENEESS 763,200 960,000 196,800
OEAILBARERHE 763,200
RNl 1,400,000 1,400,000
308 XX EHHISOI & 1,400,000 1,400,000
11 BII2SOICHEHZ A= Pt Atet| 1,400,000 1,400,000
OE22xs=scxa 1,400,000
DEHESTATIZI A 741,100 1,367,452 626,352
= 402,750
= 338,350
308 XX SISO 741,100 1,367,452 626,352
= 402,750
= 338,350
11 BIIRSOITHEHE A= RISt ALY 741,100 1,367,452 626,352
ODSHEB|YACIRIANY (BEEY) 741,100
= 402,750
= 338,350
DEHEAMASOIIL I X R ALY 415,000 0 415,000
= 225,000
= 190,000
308 XX SOI& 415,000 0 415,000
= 225,000
= 190,000
11 BIIRSOITHEHE AR RISt AL 415,000 0 415,000
DDEEEAMAROLRII AR (2
SE9) 415,000
= 225,000
= 190,000
HE22UGASHSAY 466,000 400,000 66,000
308 XX SISO 466,000 400,000 66,000
PP ENEESS 466,000 400,000 66,000




= JAgM2 SA O BEgna
3o Ay
el FEsSKAYEY (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH e Hnz=2
SmoETAreER e T == B Ol &0 ==
EEEEENERERE 466,000
FEsEHANLXE 100,000 100,000
308 KFXIEHHSOI& 100,000 100,000
1 SISt HAS A 100,000 100,000
IESIS ) SRR ge 100,000
FAE+E 1,000,000 1,000,000 0
308 AXIHHSOIA 1,000,000 1,000,000
1 S| 2S0UEE 4 X 2AS A 1,000,000 1,000,000
WESISIV E=Rasy 1,000,000
HHSNX A 2,587,000 4,810,000 A2,223,000
= 1,990,000
= 597,000
308 XXM SOIA 2,587,000 4,810,000 A2,223,000
= 1,990,000
5 597,000
01 XN BSELES 2,587,000 4,810,000 22,223,000
OEASNX A 2,587,000
= 1,990,000
= 597,000
HHMNEES S22 XY 390,000 0 390,000
= 300,000
s 90,000
308 XXM SOIA 390,000 0 390,000
= 300,000
= 90,000
01 MAHBSEERS 390,000 0 390,000
OFENNESS LS 2SS A 390,000
= 300,000
< 90,000
FagsiEYat 977,500 1,661,900 684,400
= 75,000
T 902,500
HHSZASAE 78,000 78,000 0
201 er=3| 10,000 10,000
01 AFR2telHl 10,000 10,000
Deet+2y| 10,000
OFAESAABATE RIS 10,000
307 2IZtolI& 68,000 68,000
02 LB HAIHE X 68,000 68,000
O3AsSA2SEda A 18,000
U7 E S deAL =43 50,000
S 7EIZHNE 500,000 1,100,000 600,000
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